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K E®REER @Y. Q). B % KB <) (29) 34 1 70 7 70 1 8 3 16 3 19 2 17 3 23 0 257 20 7.8
kOB OE % ((26) . (28) . (32) = Bk < ) | (30) 33 1 63 0 69 1 5 0 13 0 17 0 14 0 23 0 237 2 0.8
hoR X @ OB B W OIS B B |
w & Kk B Bw B E B @) % KB <) 5 0 3 0 6 0 2 0 1 0 8 1 11 3 3 0 39 4 10.3
2] % = ﬁ = % w 1< 8 T+ 3 (32)
wo% Kk B X £ (28 % B < ) 5 0 3 0 6 0 2 0 1 0 7 0 8 0 3 0 35 0 0.0
ok B oo B OB OBGH & B <) @3 34 0 70 0 70 1 8 0 16 1 19 0 17 0 23 0 257 2 0.8
BT 5 & ) & #® |6 5 0 3 0 6 0 2 0 1 0 8 5 11 2 3 0 39 7 17.9

| |
# Ji:| ik ) & 8
W EBE RTOEHEEORE EMR |35 11 1 15 1 18 0 4 0 4 1 7 0 3 0 5 0 67 3 45
WO B OB O % 0 & A £ |(36) 10 2 14 4 18 1 4 2 3 1 7 1 3 0 5 0 64 11 17.2
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